SRIVAL

POWERSPORTS

Universal mount pla

Part No.: 2444.0038.1 Universal mount
Fitments: Mount for BRP Outlander G2
Arctic Cat: TRV 500, 700, 1000/ MUDPRO 700, 1000
BRP: Outlander G2
CFMOTO: CFORCE 400, 400HO, 500, 450, 520/ CFORCE 500,600/
CFORCE 500 H.0O., 550 H.O./ CFORCE 800/CFORCE 850
HISUN: FORGE 700, 500
Honda: TRX 420 Rancher/ TRX 500 Foreman, TRX 500 Foreman Rubicon
Kawasaki: BRUTE FORCE 750
Polaris: Sportsman 570/ Sportsman Touring 570/ Sportsman Touring 850, 550/
Scrambler 850, 1000
Suzuki: KingQuad 750, 500

Stels: Leopard 600, 650/ Guepard 650,800,850
Yamaha: Grizzlﬁ 350, 450, 550 (2011), 700 (2013), 700 (2016-)/ Kodiak 700 (2016-)
1. Mount plate..........ooooo . 1 pe. Mount for Polaris Sportsman 570
2. Bracket.... .. 2pc.
3. Bracket. 4 pc.
4. Clamp...... 4 pc.
5. Bolt M10x3: 3 pc.
6. Bolt M8x70.. 8 pc.
7. Bolt M8x20.. 4 pc.
8. NUtMB8....cooiiiiiiieiieceee 8 pc.
9. Washer 8.........ccoeevveeieennen. 4 pc.
10. Enlarged washer 8. 8 pc.
11. Washer 10.............. 3 pc.
12. Insert nut M10x65.. 1 pc.
13. Insert nut M10x105.... 2 pc.

Installation Instructions

1. Mount universal mount plate no.1 under the ATV frame, then fix it to the frame using clamps no.4, washers no.10, nuts M8 no.8.

Toinstall the plate on ATV Outlander G2 use brackets no.2, bolts M8x20 no.7, washers 8 no.9.
Toinstall the plate on ATV Polaris Sportsman 570 use insert nuts no.12, no. 13, bolts M10x35 no.5, washers 10 no.11.




SRIVAL

POWERSPORTS

2 Arctic Cat .
TRV 500/700/1000 CFMOTO CFMOTO

MUD PRO 700/1000 CFORCE 400/450/520 CFORCE 550 CFORCE 500/600

CEMOTO ~ CFMOTO Honda ~ Honda
CFORCE 800/820 CFORCE 850 TRX 420/500 Rincorn TRX 680




SRIVAL

POWERSPORTS

Kawasaki =~ Polaris - Polaris
Brute Force 750 Scrambler 850/1000 Sportsman 850

Yamaha Stels

Grizzly 350/450 Grizzly 550/700 Leopard 600/650 Guepard 650/800/850

Kodiak 700




	Страница 1
	Страница 2
	Страница 3

